DA | (e ANUCHIE 2 ), SN
Z 5 00504 I = r i& Yiran \ %
B 3% kAl & 1A =
) B B E R &K F 5 . BREAR | WERSFER = s & &
/\ ,ﬁ_] 1_\_25}‘Z |
AHEKk 899 & 2951 . ,,,,2&74,5,,,1,%1, 30y 3y FK64F—-600357
- R - - oom = B oO® M o most
= - [318] 2 KG—-—FKB64F 6M60
WW€@&%XWM”%tAﬁ7//Wﬁ' 777777 7 -
- D)
R E PRV ame Ak ERS 77— 10 - e [38857]
H®E 0 ER ﬂ? & | BN on B oo B Kk R B E R R K B8 K E W@ _ﬁi,adﬂwvﬂé oM R OR
wOE a%% - moRE o [6 Jﬁﬂ 7S 1650k 62301, A 7%m
RUERERRERESN V4+@1§m - BXEEES EIKAES | E N i® BOS O MATEME MGME ZAWE 2% 0E
kW
7 §4 h%_?ﬁi__, e _ o o o B - 8,8érm‘ o 7;279,397 B 77473773“8vm‘ - 724‘80@_ . kg ke 3750kg
N
L 7 EEl ;{:H |
¢%¢%F“7ﬁf?,g 24 35 25 o - N . - L :
i = |
(AR K], —FrERTE B 6 s/ 1{8 200L (1) ~ 7 5 — Ik Bk 3% 48 ) 0 e
[2 O EERLIB] FR3 0E3A26H FEHESE 25%RBME A/ A—sHE B
o UT4&HAE L
Rk 2 7 AR R e E R I
AEMEES (NOx + PM) e, ZOHBEOHHOAKILIZINO %
X+ P MR E IS T, ]
k2 sERERAE, BEr»72Y N2B1A z
THEPEREEME 88dB, MERIEGHR 1, 875rpm e
(mgﬁm%ﬁmiﬁﬁﬁ 1, 8757 pm) -
< 7 T — R B R N
[ E B EREEE] 800H»9025 .
[(FofmaEEE] [201] RU—F—F  (920) BBZ
(/\
,igzLﬁ BE 26 dn 14y @ W YR 32 R R °
o W] i ] (=] R
E"i‘ B EETE ' ?‘%ﬁ s G
s K e o 1]
rﬁ: Eh‘*- 1 El %ﬁ El ot 'i-%:.
1.$@ﬂ£@ ﬁ%ﬁr%i@mmfkw REELTTE W,
( FHEEEH, BEOBEEORIILECRY £3, ) .
/82.$ﬁm%®E@Ef ﬁ?ék%i REEE R BT A —



